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VI Semester B.Com. Examination, May/June - 2019
COMMERCE

6.4 : Management Accounting
(CBCS - Fresh+Repeaters - 2017-18 onwards)

Time : 3 Hours Max. Marks : 70
Instruction : Answers should be written completely either in English or in Kannada.
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1. (a) Eo=m:d Gah) béeaﬁﬁoﬁa@ 8RS BRoLHR BRAZHVTT é:ﬁﬁaiq{ 5, W

Name the Partics who are interested in the Financial Statement

Analysis
(b) =w@ L woudead 9

What is Trend Analysis ?
(c) wZz =Tamod doﬁ%odo DT ﬁﬁzﬁémﬁaﬁa& &9,
State two Requisites of Good Reporting System.
(d) Toohraedh LoRmUT @rﬁrﬁm& &2 2,
State the meaning of Working Capital.
(e) IN BOCIHRB TOW SPE YA,
Write the meaning of Cash flow Statement.
()l womee Redor' wmmedg 5;@%&:&:&% BN BRWNO 2
How do you Calculate Capital Gearing Ratio ?
(g) m*ﬁmﬁd mog, Wil DJemes @ﬁ?ﬁ&b‘l 8T,

Give the meaning of Common Size Statement analysis.

P.T.O.
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Answer Any 3 queqtmns "BEach qucshon carries 6
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(1i1) m@—e‘mg% BT

< 60,000, ﬁu&wu&"d SRR

< 1,60,000, ﬂ;dﬁon@ SooeRdE = T 23,00, OOO m_,qw& =eTs m@ﬁ—a%ﬁd Mrars;

¥ 8,00,000, 10% Efd‘@ e &.C:‘:E"" < 3,00,000, 12%
mooem, Ry T 2.00,000.

wed) sieutiobned X 3 00,000,

© Fgrish ¥ 3,00,000,

From the information given below, calculate the following ratios :

Stock Turnover ratio

(1)

Information

Quick ratio (11)

(iii) Debt-Equity ratio.

: Current Assets T 6,00,000, opening stock T 60,000, closing

stock T 1,60,000, cost of Gooeds sold ¥ 23,00,000, Equity Share Capital

T 8,00,000, 10% Prcference Share Capital T 3,00,000,

12% Debentures

¥ 3,00,000, Current Liabilities ¥ 3,00,000, General Reserves I 2,00,000.

WFEE JETeAnd megway ACITEAN wHoA.
Bncﬂy c‘qalam the Role of ’\fTanagement Accountar
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FRENRTAT TR TN Debe
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ROTINY DReE 0N ZrEF oRATRT
Neﬁ&md SptAple]

From the following details find out Funds from
Company.

Salaries

Depreciation Written off

Profit on Sale of Fixed asseis

Discount on Debentures written off
Loss on Sale of Investments

Preliminary Expenses Written Off
Proposed Dividend

Transfer to Debenture Redemption Fund
Dividend received
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8,500 v
15,300
14,000
20,000
2,000
8,000
50,000
20,000
£.500
Operation of a Start up

3
8,500
13,300
14,000
20,000 .
2,000
8,000
50,000
20,000
4,500
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& TENT BRHIMOT Swacd G BoomvEs TN, JodRoA.
2016 2017

4 4
WIDTES 5,00,000 4,00,000
20Tk wWBE AT = t.:%d 3.00,000 1,80,000
BEPI W Bwok Jua* 1,00,000 70,000
ot tel ef—g&..anm 20,000 10,000
BWooR 23071 60,000 70.000
From the following information prepare a Comparative Income Statement.

Year 2016 Year 2017

4 T
Sales 5,00,000 4,00,000
Cost of Goods Sold 3,00,000 1,80,000
Administration & Selling Expenses 1,00,000 70,000
Other Incomes 20,000 10,000
Income Tax 60,000 70,000

31 &23:::.;_,
2017 2018
4 g

LBt TE TodBnw 60,000 57,000
H¥Biacrate) 20,000 22,500
3BT BDoanh 30,000 35,000
ARG 9,000 7,000
¢ QUOw "”@’rf%*a 2,000 2,200
BOONE mﬁéﬁmﬁ DN S00 800
&gef;‘;ﬁaﬁ;cj (SIwpio s 700 850
WRONEwN JEoDheRG =0 900 350
TP mar ooyl - 80,000

From the following balances calculate Cash from operations.
31st December

2017 2018
T 4
Bills receivables 60,000 57,000
Debtors 20,000 22,500
Bills payable 30,000 35,000
Creditors 9,000 7,000
0/S Expenscs 2,000 2,200
Prepaid Expenses 900 800
Accrued Income 700 850
Income received in advance 900 390
Profit made during the year = 80,000

P.T.O.
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o m = a e,

\mw:i:a 2 u.lj I"‘:a:ﬁ uw.“ﬁ()ru '.‘_3 -.)T'\ 14 =oTns. 3x14=42

I\n*-,wvr any 3 qucsatmns Each 'uiucqimn carries 14 Marks.
e, ¥moy Bogw wpes wE. Omeos 31.8.2017 Som 5 FFTOTOST.

T oined
[y -
BeuPEE DI wITHIR BN g BAN z
- (] -—
WWHT, e WoBTRY 150 A8 &5
(Trrer mRE) (o) 220
ey g Wm0 55| less: xzmze 35| 185
ooy Fd N g 20| w0 =3 :
e i 3 T - i =2 =
SO LoeAeD 10| oA 35
LED QO 50| 9deinse 40
Snce 25 100
285 285
Tl BPL T BYTCWoIT ¢
(X e3ngd)
FWODE 130
2 T $on ,«D)Ou_,w WwEoRn (EBIT) 40
L .
301 dogdn wrodknel - 30
% 39N JLADT edbTRdnd, S YW Tooiroth SRTRIT WTBIT/R, S9A wTRD.
(i) w@we vIns (iv) 99088 V&R ¢ g
(il) TR TR (v) TomERe SLhimis S 23
(iil) sobdd oogd LTRE (vi] ROORO |ERT=E SIQ
B

(vii) #ewoes, econ® 63 (ROE) opgood
The Summarised Balance Shect of Aditya traders Lid. for the year ended
31.3.2017 is given below :

¥ Lakhs
Capital and Liahbility | ¥ Assets z
BEquity Share Capital | 190 Fixed Assets (at Cost)
(Fully Paid up) 220

Reserves & Surplus 55| Less Depreciation 35 185
Profit & Loss A/c 20| Current Assets :

Provision for taxation | 10| Stock 35

Sundry Creditors 20 Debtors 40

Cash 23 100
285 285
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The additional information is given below :
¥ Lakhs

Sales
Earnings beforc

Prolit after tax (PAT)

interest & Tax -

130
40
30

GS5-468

Calculate the following for the company and explain the Significance of cach ratio.

()
(i1)

Current ratio
Liquidity ratio
(iii) Profitability ratio

{iv
V)
(vi
(vi

)

Sitock Turnover r
)
i)

Debtors Turnover ratio

atio

Average Collection Period
Return on Equity,

8. & 2R &Ebid:aﬁ 2ENNCW & IF 8 == T %ﬁﬁﬁ??i)‘;_ DETENG,
wmaa‘%ﬁﬁﬁ%b 01.01.2017 31.1‘.:2017 San 01.01.2017(31.12.2017
g -4 = S 4
DN 50000 24000 |Ence 20000 8000
méofs‘cr'ﬁozw IEE e 50000 60000 {v3ednisd 40000 60000
Eshé iepdon TP _
= 25000 - TRFDRINW 45000 35000
B
LoWwmey 135000 163000 |chogrizo 90000 65000
5&3&3?‘1% 40000 54000
TSRS 25000 55000
260000 277000 260000 277000
EZ&E..&JU Pod&ed
Eu_:aDé THFTY ooz P, T20,000 T X 6000 BRENG (Fonmmns Smee
$4000) 01.01.2017 Jdeth moamﬁ dFREY Auw® T 35000 fméi_ 31.12.2017 Som

T 50000. =3 IR enmodn HaT 28 T 55000,
[N DOLT w%&'b&ibal 23RO,
Given below are the Balance Sheet of Ramachandra & Sons.

= o e 1 Jan 201731 Dee 2017 1-Jan-2017 |31-Dec-2017
Liabilitics Assets
4 £4 I g
Creditors 50000 54000|Cash 20000 8000
Loan from Bank 50000 60000| Debtors 40000 60000
Mes.Chitees 25000 _ Stock 45000 35000
Loan
Capital 135000 163000 | Machinery 90000 65000
Land 40000 55000
Building 25000 54000
260000 277000 260000 277000
P.T.0.
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During the year a machine costing ¥ 20,000 (accumulated depreciation
T 4000) sold for ¥ 6000. The Provision for Depreciation against Machinery as
on lst January 2017 was ¥ 35000 and on 31st December 2017 ¥ 50000.
Net Profit for the year amount to ¥ 55000.

You are required to prepare Cash Flow Statement.

QTIONES 2015 2016 2017
4 4 4

=T 300000 550000 650000
TOBNY 30008 ﬁ&z 250000 300000 300000
FIOHF EHTEIINY [P ¢

{8 ﬁz%ﬁ@b 10000 55000 70000
oo 00k3 ﬁ"@‘{% 5000 30000 45000
cieleaiovii /i 2000 5000 6000
FOORF AN WIW RPN

EIDISTC] 230093 "wﬁg 6000 14000 30000
TeOT w0edT W& 15000 20000 50000

From the Following information compulte trend ratios, usc 2015 as base year
(trend Percentage)

Particulars 2015 2016 2017
4 4 4

Sales 300000 550000 650000
Cost of goods sold 250000 300000 300000
Operating Expenses :

Office Expenses 10000 55000 70000
Sclling Expenses 5000 30000 45000
Distribution Expenses 2000 5000 6000
Non-Operating Expenses :

Interest on Debentures 6000 14000 30000

Interest on Losn 15000 20000 50000
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10. ©3 39303 ©TNOT Ynyiw® UHY wwos HIF =), BT BPEIWOT
30320A : (a) W WOBMYROS WICRHHD Wey WS
(b) D TWOUT Wb, FoIWOR.
R 31.3.16 |31.3.2017 — 31.3.16 | 31.3.17
T 3 2 Z T
RRWRE, MW womWY | 6,00,000] 7,50,000 [FRERD 3,50,000| 5,00,000
ooy IR 98 50,000|  75,000|chogRes 3,00,000( 4,00,000
DETRERD B 2,00,000| 4,00,000 |cdwemgdeense | 1,85,000] 2,05,000
Gedrieh 4,50,000| 5,40,000(% 2,60,000{ 4,50,000
BRBETT BHoBNRW 85,000 95,000 (v3edriso 2,00,000( 1,80,000
wod QT Begried 5,000 10,000 |5nc 85,000| 1,35,000
TRWE TR
Sgrisd 10,000 -
13,90,000( 18,70,000 13,90,000| 18,70,000

ﬁ.&%ﬁ@ wIvdod :

TOTURNT.

TRTFFETRD WAk T 10,000 3
TRY IRY DO B4R T 1,50,000.

oL

L

oogne @ed T 20,000 W) ReBdeeTsTenY

T ORNT.

e T 20,000 R8¢ IR

From the following Balance Sheet of Arvind Ltd and additional information

Prepare : (a) Statement of changes in Working Capital
(b) Fund Flow Statemcnt.
el 31.8.16 | 3L.3:17 31.3.16 | 31.3.17
Liahilities 2 » Assets - -
Equity Share Capital | 6,00,000( 7,50,000{Building 3,50,000| 5,00,000
P&LA/c 50,000 75,000 (Machinery 3,00,000{ 4,00,000
Long term debt 2,00,000( 4,00,000|Furniture 1,85,000]| 2,05,000
Creditors 4,50,000| 5,40,000|Stock - 2,60,000| 4,50,000
Bills Payable 85,000 95,000|Debtors 2,00,000( 1,80,000
0/S Expensecs 5,000 10,000|Cash 85,000] 1,35,000
Preliminary
Expenses 10,000 =
13,90,000( 18,70,000 13,90,000( 18,70,000

P.T.O.
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Additional Information :

(a) Depreciation written off on Machinery ¥ 20,000 & on Furniture ¥ 20,000.
(b) Preliminary Expenses written off ¥ 10,000.

(¢) Building purchased during the year I 1,50,000.

11. (a) 391 SPATIE SWH@odMYd THORFTO WOBWIYHRY, JWNATYTRE,
ZRTNIRNARDTBEC VFPDY LHTVBHBOIRMRD RV DOTR %‘c)d‘f@ Tk 395.
3 VI
cRYD, T 100 3 BoDBSK Vead

(b) BENT @mtﬁﬁ@(}w ;Jaﬁd SBTODNT, FOIROK :
i) = 1.1.2017 doch T 3,00,000
(i) = 31.12.2017 doth T 6,10,000
[11_1) NUQJU SR nHg 15%
(iv) %% mEd @S T 70,000 (NI BS T 30,000) [ROT, X 42,000.
(v) m=c a.;@ T 15,000 (3:0z 28 T 4,500) e SN, I RORT.
(vi) MFRC BeOERy, T 2,30,000.

(a) State with rcason whether the following transactions result in the
increase or decrease of Working Capital or do not affect the Working
Capital.

(i) A Company issued 10,000 shares of ¥ 100 cach at Par.
(i) Cash paid to Creditors ¥ 75,000.
(iii) Long term Investments were sold for < 10,00,000.
(iv) Preliminary expenses written off ¥ 20,000.
(v) Advance Income tax paid X 75,000.
(vi) Dividend paid ¥ 1,50,000.
(vii) Bad debts written off during last year recovered ¥ 1000.
(b) Prepare Plant A/c from the following :
(i) Plant as on 1.1.2017 T 3,00,000
(ii) Plant as on 31.12.2017 X 6,10,000
(iii) Depreciation on Plant charged at 15%
(iv) Old plant costing ¥ 70,000 (WDV ¥ 30,000) have been sold for
T 42,000
(v) A plant costing ¥ 15,000 (WDV X 4,500) has been discarded.

(vi) A plant purchased for ¥ 2,30,000.
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